MODEL TEST PAPER 2017-18
CLASS -VIil PRATIBHA
SOCIAL SCIENCE
TIME :2 Hrs 30 Mnts

General Instructions:
T A

(1) All Questions are Compulsory.
) gz afard 2 |
(2) Q. No. 1to 6 carry 1 mark each.
U AT 1 9 6 9 9 & 1-1 8w |
(3) Q. No. 7 to 11 carry 2 marks each.
e A1 7 | 11 db i1 & 2-2 3(d T |
(4) Q. No. 12 to 17 carry 3 marks each.
3T G112 A 17 9 99 & 3-3 3fh B |
(5) Q. No. 18 to 19 carry 5 marks each.
U 6T 18 | 19 A% G & 5-5 3@ £ |
(6) Q. No. 18 n 19 has three parts, do any 2. Which carry 5 marks each.
T3 T 18 H 19 B I 9T € Pl 2 B SR [oIRay |
(7) Q. No. 20 has Map Work in 3 parts (a), (b) and (c) Total 6 marks.
UeT AT 20 AFRGE HT & o A9 AR § (31), @) iR (|) o 6 3F B |
(8) Students are expected to read questions carefully before writing the answers.

foenfoit & omfera & % 9 uedl & SoR fora & gd geAi &1 e [@d ug |

Q. (1) Who were the two main leaders of Home Rule League?

I & ST & &1 TE a7 i o ?

Q. (2) Correct the given sentence :
FTFT T 3t e forfe
The agricultural Industry is known as the back bone of all industries.

T I2ART T THT TN Bl HEES Fgl ATAT 2 |

Q. (3) Which of the following is a renewable resource? Choose and write.

(@) Coal, (b) Solar Energy, (c) Natural Gas
e & & 19 |7 U T HHEE g ? Biew? e
(@)yFEer (@) §2 el (st =

Q. (4) What was Spinning Jenny?
FoafeT Sl = oft 2

M.M.:50



Q. (5) The two Houses of Parliament are the ------------ and the ----------- . 1

9T F 31 geq #q gl

OR
Who was the President of Constituent Assembly?
AT T AT TAT & e A o ?
Q. (6) Write any one feature of public facilities? 1
TGl & I UH fJerydr gargy?
Q. (7) According to you what two points of the Wood’s Despatch are still part of our Education. 2

AT SATETE T & AT T o I | & fawg ofrer 9T gHTT FreqT &7 A7 8 2

Q. (8) See the picture and write any two reasons which created spirit of nationalism in ordinary people after First
World War? 2

= &1 2T 7 g foa I3 a18 S 0T F o« A0 § TgATE 6 ATaET A aar har 398 7 el
T Freon o 9 7 forfem 2

Q. (9) Write the names of any two minerals used in daily life and suggest which measures would you adopt to
conserve any one of them? 2

<9 Sftae ® TIRT 2 arer fheat &7 GiFsit o 979 forfaT a9 sarsd 921 39 & el U % 90T &7 3970
qA=T ?

Q. (10) Is it right that development of economy made tribals a marginalized community? Write your views. 2

FAT T Tat g T farer &t afrar 7 srfaarterat it grierTs aqara aa7 a7 2 o+ = forfe |

Q. (11) Universal Franchise is the Soul of Democracy. How? Explain. 2

Tqsft T AT 3 FT ATIF O ATaATTHE 25 AATIAHTT AT Fgl SATAT § T ATHA hl SATCHT 8- Fe?
l(z’”@Ql . - ¥




Q. (12) How the first Indian textile mill started in Bombay opened the way for more textile mills in India? 3

THS | F g Tl AT FIST (HaAT F T | 3 FIET 7ol a0 7 T0eam 8 @i &3 o ?

Q. (13) Gandhi ji argued that colonial education created a sense of inferiority in the minds of Indians — Do you agree

With this statement? Give 3 reasons in support of your answer. 3
et St o7 AT o7 3 sdrafarafors forerm o TR % w0 § Srar &7 e Gar w2 2" € — AT 5 wue
T TEHT & ? A9 3¢ H i Feor ey |

Q. (14) According to you why iron and steel industries are mostly placed in Odisha and its adjacent states? 3

Q. (15) Which of the following s are the reasons for the Smog being visible in the month of November — December in
Delhi? Explain.

1- Use of vehicle, 2-Use of metro, 3- Factories, 4- Burning the litter, 5- Riding the cycle. 3
faeett o Tarae-fRamay F wgm ¥ s 39 a1 oma (whn) & F & F oy wwor € feaw afaiay |
1. ATEAT T TAN, 2. HST FT TR, 3. ®BFdl, 4. FET AT, 5. TS0 TATT |

Q. (16) Various Schemes are being run by the Government to provide Social Justice to the students. Mention and

Analyse any one of them? 3
LAY G =Tt & gt =g o & o0 s\ Jem 97 ST @i g | 390 ° et uw s are o
ESIER I

Q. (17) Whenever a person is sick near your house, which hospital does he/she go for treatment Private or
Government? Confirm your answer with reasons. 3

AT AT T 3 =20 H o7 o} 1g =af<n A 2rar & a7 9 garet & forw i & sreuarer § v 8- J
77 fAsft 2 wreor /g e s ey |




Q. (18) Imagine you were a soldier in East India Company Army and you have been a part of 1857 Revolt. Analyze
the Causes that provoked you to rebel? 5

FEUHT IO AT Tee STAT HUAT T TAT H ATLATT HIAF 8 3T 1857 F fagig § wrfiar ¥ & | 39 F1on
FT FaTed fore Freor srae fAgg # 9 forar 2

Q. (19) What conventional sources of energy are used in the houses around you, Mention any 2 of them? What 2 other

non — conventional sources of energy will you suggest them? 5
AT SATE 9TE o =X H HoIT 6 [ohel ATeAT T TART AT & , S0 & Toheal &l o a1 § ey a9 39 00 61
F1E 1 77 arrafe et A sy 2

Or AT

Suppose there is a Chemical Factory in your area for which you filed a PIL . On the basis of which the
Government has ordered that the Factory to be shifted 100 KM away from the city. What aspects related to
the factory you mentioned in PIL ?

AT SIS 3Tk ST | U AT TE hecl g [oreeh (o0 ST S8 AT=IhT ST Al ofF TAT IHeh SLTT
U HqYERTY o et T 9g¥ 7 100 6. HY. g¥ e v smeer fRAr g | o stga anfzer & R A #7 Seoe

ERIR

Q. (20) Map Work:
A=A 1

(a) On the outline map of India mark two cities where Cotton Textile Industries were established in the late 18"
Century. (2)
AT o YT AT = § 1847 rareat § €AT00T a7 AT a6 I2ANRT 6 gl 6 719 93y |

(b) On the outline map of India mark Centre of 1857 Revolt in North India. (1)
AT o <@ q19 = § I 91 6 1857 * [AR[E T U g 41147 |

(c) On the outline map of India show the places given: Rourkela, Bhilai, and Bokaro. (3)

TTT & ¥@T AT § 3T, f9aTs T iy g9z

Only for Visually Impaired Students:
Hao gie e &= & g

Q. (20)

I°7 (20)

(a) Write the names of any two cities where Cotton Textile Industries were established in the late 18" Century? (2)

(31) ST AATeal H AT H ST il &l AT a6 SN 6 g 6 A1H Jarsd ?

(b) Which was the main centre of the Revolt of 1857 in North India? (1)
() STE AT H 1857 F fAZIE FT UF q&A Fg Iqred ?

(c) In which states Rourkela, Bhilai and Bokaro Steel Plants Established? (3)
() TTSTHAT, THATE 3 TRy fofey Tt | 8 2
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Model Test Paper
Class VIII
Social Science —Nishtha

M.M.:50 TIME:2Hrs 30Mnts

General Instructions:

qTaTT e

(1) All Questions are Compulsory.

GRIRCEERCIECIDI

(2) Q. No. 1to 6 carry 1 mark each.

U GRAT 1 9 6 db Ol & 1-1 3 2 |

(3) Q. No. 7to 11 carry 2 marks each.

U3 AT 79 11 b G B 2-2 3 2 |

(4) Q. No. 12to 17 carry 3 marks each.

U G 12 W 17 ddb A9 B 3-3 3ih ¢ |

(5) Q. No. 18 and 19 carry 5 marks each.

9 AT 18 3R 19 B 5-5 3 T |

(6) Q. No. 20 (part a & b) of map work carries 6 marks.

U WY1 20 (MFT & 3IR @), AFRE &R, & el 6 3 ¢ |

(7) Students are expected to read questions carefully before writing the answers.

foenfoit & ofera ® % 9 uedl & SoR fora 9 gd yeAi &7 arae gdd ue |

Q.1. How did spinning jenny become important in increasing textile production? 1

Q.2.

Q.3.

I IAGA B g § RAFT S fhe yeR Agw@qer a1 Ta1?

Rewrite the correct sentence:-
Mahatma Gandhi strongly believed that English/Foreign Languages ought to be the medium of teaching in
India. 1

BT BT Aol IRD [eTRgT—

HETAT T B g Ar=gar ot & e daa sl / faeeh Jmrei # & S =12y |
Compressed Natural Gas (CNG) is used as fuel in DTC buses, Auto rickshaws and many cars in Delhi.
CNG run cars are also exempted during odd-even scheme. Can you tell why CNG is considered as a better
Automobile fuel? 1
fooell # SLELA oI, sifel Reawn don 9gd A1 &R § |UISd Urfde 19 (FA.TASN) &
39 B WY H YT fHar Srar 2| 3e—sdd WhiH & R A WUASH. 9 I dlell BRI
DI BE YT BRI 2| FT T g1 AHd @ b ALTASH. B Uh d8dv ACI—AMRge sed

FT | ST 27




Q.4. Which of the following is not a reason for the revolt of 1857?

a) Owing to the different policies of the East India Company, the Indian rulers either lost their crown /
authority or their power was eroded. They wanted to regain this.

b) Many rules of the Army of the company violated the religious sensibilities and beliefs of the Indian sepoys.
Indian sepoys were unhappy due to this.

c) The company promoted English language education. These English educated youths later became
revolutionaries and revolted against the British.

d) The company started the process of social and religious reforms owing to which a large segment of the
society was unhappy. 1

fo=1 forRag & & &9 91 Us 1857 & fAgie &1 BRI A8 B—

(@) 3 e dudl @1 A= N & SR W el o ar a1 TR fod T8
of IT I i ®H 81 g ofl | 39 I T YT AT arsd o |

(@) I DT T D By T IRA JTDT B arfiie waamRl SR JiRerai B oA
ggard o | S IR AEG ARG /3R o |

() BUT = SUST Riem B Yredrs 1| USH H ue 9 gad € 9 A pifcrpry a4

Y 3R I=iH fAgig & fear|
(&) BU = AR T e GeRl @ ufhar URY B R R A9 a7 U g
CHESIRCNIDIN
Q.5. Write a public facility available around your area. 1

319 MMF—UT & & H e arell fhdT g Sgfaem &1 9 ford |

Q.6. Which of the following is recognized as being a part of the Right to life under Article
21 of the constitution of India? 1

(@) Right to equality (b) Eradication of child labour
(c) Right to water (d) Cultural right

YR WiAe & 31gees 21 & Aaid foiRad H b ABR Bl Siiad & ATHR BT
few=a A T 2

() HHTICT BT IAfTBR

(@) 9T AT DI HHATE

() Tl BT HAfaBR

(&) ARepfd® AfErhR

Q.7. How did the development of cotton industries in Britain affect the textile producers in India? 2

I # T HUST TN & [ABR | ARG HUST IAGHI R [HH YBR & YA1T TST7




Q.8.

Q.9.

Q.10.

Q.11.

Q.12.

Q.13.

Q.14.

Q.15.

Q.16.

Do you think there is a higher possibility of development of Solar energy in India? Give reasons. 2

PRI 3T g & b 9RT § IR Soff & A & 21fde Jura=T 28? BN 9arsi? |

Why human beings are considered as an important resource? 2

Hd Bl Y Agwaqol AERE AFT ST 2 | 317

Why do we need safe guards for minorities? 2

AIAEID] & oIy BH FRETHD UTaII &I R ST’ 27

State two public facilities provided by the government that you use. 2

WRBR GRT SUA@l PRIg S dlell &l Sagfaesll & M forkgy e ama TR
HA B |

Why do you think production of steel increased during the First World War? How did the First World War
give new opportunity to Tata Iron and Steel Company (TISCO)? 3
MU fGaR H JgI & SRME WId &I IATed R 9 Idl &8¢ YIH fdeq Jg 9 <rer

JMRA TS Il HYAT (TISCO) Bl Y TR bt UHR ye™ faar?

Coal, Oil, Hydel power etc are conventional sources of energy whereas solar energy, wind energy, Bio-gas
etc are non-conventional sources of energy. Why should we increase the usage of non-conventional energy
instead of conventional sources of energy? 3

I, WS T, Se—fagd 3MMfE ISl & WA 9 © S|l 9aq $Holl, aand
SIfG ISl & IR—URURMTT A 2 | B9 URORNTA Soll Aidl & W UR IR—IRURETT ol
Il & YANT BT &l 9T A1MeY?

Your uncle desires to set up an industry. Mention the factors necessary to keep in mind for the same. 3

MUs ol ool & IMI—UTT U RGBT IATAT BT IT8d & | 379 gdiv fh s9d
ot S e BRBT BT &9 | W1 ARy |

State the measures to save water in your school. 3

= faemera ° g sa= & Sury forfRgu |

Adivasis are usually portrayed/showcased in particular ways in our country but popular image prevalent
about them is contrary to their real life. State three important points explaining the real situation about the
Adivasi Society.

TAR 9 ¥ IMfEaral &l WM Udh @ aRe | U9 fhar Sfrar € offd wcbaﬁﬁ
gaferd Bfddl 96 ddfdd Siiae ¥ fdedhel 31elT 8 | SfQaril ¥H1el & Irifdd Silas &
IR # A9y fagen & ford |




Q.17.

Q.18.

Q.19.

Q.20.

Briefly explain the following important features of the Indian Constitution. 3

(@) Federalism
(b) Parliamentary form of government
(¢) Fundamental Rights

AR Afqg & frafoRad gqr deroll o\l arer o |

() wears

(@) wadra e ugfd

(m) e srferpr

Education was imparted through pathshalas before the Britishers came to India. After 1854 the company

decided to intervene in the functioning of local pathshalas and bring improvement, owing to this many
changes came in the system of vernacular education. Compare the local pathshalas with the new education

system brought by the Britishers based on the following points. 5
(@  Time-Table

(b)  Rules

(©) Inspection

(d) Grant

UG & 9RA M ¥ Ugel 9RA H WY yrsenersll § e < el off | 1854 & 91
YT 7 AT UISITATAT & BH BIol § A o Ud I FUR A BT bAel (o
o1 dRUT Qe e eRenm # e dgadrd oMY | A faRad fdvgell & JeR W
IR YTSTITATS] AT U §RT s Ty s 11T AqRAT Dl JelT BN |

() T AR
() foram
(m)
(&) ergar

You have studied the story of Rathnam in your Textbook Social and Political life (Chapter-Confronting
marginalization). You might have come across several other instances where people have to face
humiliation. Suggest some measures to protect them from such humiliation. 5

MU Ao 3iIv Torifad WaT (EA—sIRFERY | e H Ia99 3 del ugl
2| 3MUd Ul 31T TeAl |l <l Bl ST Al P 3MYA &I AT HRAT1 UST 8 | S
U A W 99 & o7 |8 U Gy |

Map work is divided into two parts;-

(@) Locate the following places related to the rebellion of 1857. 6

(i) Meerut (i) Jhansi (iii) Faizabad

(b) Identify the most important industry located on the world map.

(1)  Anarea of Iron and steel industry in India.
(i)  An area of textile industry in Japan.
(iii) An area of Iron and steel Industry in United States of America.



AHRIE S 7 A9 A o § - |
(@) 1857 & fagie | Wafda ffoRad =i & YR & AFfE W <9 |
(i) *=s (i) s (iii) BomaTe
(@) fawg & "Mfos W A=faRad el & ggam™ & |
(i) ¥RA ¥ el U4 ST ST BT TS &7 |
(i) STue # Gl A SR BT UH & |
(iii) wgaa o SR # et Td ST SENT B Ud & |

20(a) ()

I3 .'NDIA- POLITICAL AND ADJACENT COUNTRIES 'HR‘H m WWW

.wmwdmmmnumumwwum
4 mmdmm&mmmmammnﬁmmn
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intet Bilr'- mmtmmmmmmmb/m
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20(a) (@)

WORLD - PHYSICAL : TUR-UThideh

|eeu's : 66%5'S ;
) 150° 120" % {) o o0 %' 120° 150" 180° |2}
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(@) State the three consequences of the rebellion of 1857.

(b)  Answer the following questions :
(i) For which industry Jamshedpur is famous?
(i) Why is Ahmadabad known as the Manchester of India?
(iii) Where is Silicon Valley located?

(@) 1857 & fagre & o= aRomAl &I ford |

(@) fr=ferRad ool & SR falRaw —
(i) SRIeqR foa sem & fog uRig 21
(i) 3TEHCMETE Bl R BT HTURER Rl HEl Sl 272
(iii) RaferpTa a1cT Pel JaRerd g7




Model Test Paper
Class VI
Social Science Neo-Nishtha

TIME :2 Hrs 30 Mnts M.M.:50

General Instructions:

T fAd:

(1)

All Questions are Compulsory.

T g srfard € |

(2) Q. No. 1to 6 carry 1 mark each.

U AT 1 W 6 db G B 1 3P 2 |

(3) Q. No. 7 to 11 carry 2 marks each.

o AT 7 W 11 db a9 B 2 3fh T

(4) Q. No. 12 to 17 carry 3 marks each.

U TIT 12 § 17 I A9 D 3 3D T |

(5) Q. No. 18 and19 carry 5 marks each.

T AT 18 3R 19 db G & 5 3ih 2 |

(6) Q. No. 20 is map based question having 2 parts (a) and (b) of total 6 marks.

U AT 20 AHRIF @1 ® s Q1 91T (@) IR (@) S e 6 3 B T |
(7) Students are expected to read questions carefully before writing the answers.

foenfoit & omfera & 6 9 uedl & SoR forae 9 gd geAi & e [@d ue |

Q1.

Q2.

When the Portugese first came to India in search of spices they took back cotton textiles along with spices to

Europe. 1
Portugese took to Europe and from India.

GCHTTell ATl @1 TlTel H 919 Ugell IR WRd 3 AT 9 J8f | J7all & A1 el dusT |l ofd 7Y |

In 1830, system of education was flexible; there were no printed books, no benches or chairs, no time table or

annual exams.

Mention any two things which were not there in a class room during 1830s but are present in your classrooms.
1

1830 % T¥d H e &1 q¥iel ofeiien o1 | Bl fhard 8l gl off, 9 iR {RIT 781 o, <l are
TE B0 o, TEA <qel SR AT wier Wy e gl o |

fp=gl a1 a¥gell & - forar il 1830 & S¥H H U Hell ¥ 78l off, IR SMUD! el H T |

1. 2.




Q3. The sepoys of Meerut forcefully entered the Red Fort and declared Bahadur Shah Zafar as their leader. 1
The sepoys of Meerut declared ( Bahadur Shah Zafar/British) as their leader.

W3 & UIfRdl &l Clell SaR dd fdhel § g9 T8 3R I8l q8IGR WS GHR Pl (U =Tl ’ifye
ax e

RS D RIUTRIT T e (fRAT / 98TgR 28 STHR) DI YT =IdT aIfa & e |
Q4. According to Right Against Exploitation, the employment of children less than 14 years of age is a crime.

If a twelve year old child works on a tea stall his (Right to freedom/ Right against exploitation)

is being violated. 1

Y & (I5g AHR & ITAR 14 94 ¥ HH Y & Foal DI AoTgl IR ET WY T |

MR B 12 A BT qed AT DI GBI U B PRAT 8 AT T
(A= & IMRABR /M0 & fIog IRAPR) BT &7 2|

Q5. Clean drinking water and sanitation are related to people’s (basic/ special) needs. 1
G BT A% U T BT A Bl (Terga / faRiy) v 2|
Q6. Adivasis have been deprived of their lands. Today they are viewed as marginalized and powerless communities.
1
Today Adivasis are viewed as (Powerful/ marginalized) community.

SRl | S STHIH STaR BTl T8 § | S8 3779l BIRATS 3R AfKTe WY & w4 H ol
NIGIEY

SR BT e (arfaremet / BTRMATE) Y & U H <9 O € |

Q7. Public facilities should be arranged for all. For example transportation and school. Give examples of any two other
such facilities. 2

SRSt BT g wWad forg fhar S anfey o % uRaed &k T | {5 <1 e
STgfaensii & IarExvl SIS |

Q8. India is a democracy. People elect their leaders who form the government. A government has three organs —
Legislature, Executive and Judiciary. Legislature makes laws, executive implements them and judiciary punishes
the law breakers. 2

Match the following:-

l. Legislature (a)Implementing the law
Il. Executive (b) Making the law.
. Judiciary (c) Choosing your own leader.

V. Democracy (d) Punishing the law breakers.



RA U AAlbdd & SHH ST (Y =T &I A1 G& R & Ol ABR gAK@ | RBR & I 3T 2 |
eIt BT B9 € BIFA I, BRIUNADBT BT BMH & DI AN] HRAT AR ATAT AT | =TT TDbT
HTA AreT daTel Bl Aol <l B

AT HRI—
a) faerfaer (@) BT STy BRAT
b) @riuTferd (b) & g
c) et (C) ST T g& g
d) weda (d) S drew arel BT FT <

Q.9 Europeans liked the cotton textiles from India. Fine woven cloth was called muslin or malmal. Cotton cloth was
called calico. Chintz was printed cloth. Bengal’s tantis, momins of north India and devangs of south were weavers.

Match the following 2
I Chintz (a) Weavers
II.  Wootz (b) Printed Cloth

lll.  Tantis (c)) Muslin

V. Malmal (d) Steel

RIMIT BT AR A AT G BUST 980 UHE o | qRID g5 & G4 BUS| Dl AR AT AHA Pad o |
T BUST DI Dicldl BB ST AT | Bic BIUGR HUYST AT| T & didll, IR IR & AR 3R Sfaror &
TART PR o |

e BRI—
a) ©ic (a) gTax
b) &ferar (b) BUTR FHusT
c) qrar (c) werat
d) #ARe™ (d) gt s

Q10. Renewable sources of energy are those sources which can be used again and again such as solar energy and
wind energy. Non renewable sources are those sources which are limited and take thousands of years to get
generated again. For example : gas, coal, petroleum.

In the boxes given, observe the pictures of resources. Write in the space given which of these are renewable
and which are non-renewable sources of energy. 2

Holl & TAIBRONY FAEF 9 FEEE 8 Sl Sleal 9 YRT A1 TdIdhd 8 O & o b GRSk gaq
Sl | AR FHEE 9 8 9 i © iR R gaRT gRA B H 8GRI A1 o O © | o
fb 9, BT a1 ucifera™




o T ol &7 R SR died | forRau pi—<ar Fame Ao © 3R BI9—3T FdIhRu?

| Solar Energy
Wind (24T) Coal (1<) Petroleum (Y2Tfera®) (F1T )

Q11. “They took our farming land. They took the cremation ground, temple, well and pond. How will we survive? “says
Govindha Maran , an aadivasi who was displaced due to a refinery project in Odisha. 2

IST H T R aRASHT & HROT d8R gY ATMeardl Mg ART Hed &, “So 9 Wl dl
SH B o | S TR M, |ieR, @ e d1ed 99 8 31U del H o form 21 9/ B B
Tg?

(i) Why was Govinda Maran displaced?
Mde ARA JeR 9T §Y2

(i) Besides their farming lands name any two things that the adivasis lost which caused loosing their
customs and traditions.

WAl BT STHE B AT ARl | IR w1 @l AT S SHBT WuRT IR Ay —Rarsr 9
ST g7 o7 | BIg a1 fig forfRey |

Q12. Given below are some examples of agriculture and mineral based industries. Sort and write them in the correct
part of the table given below 3

Cotton textiles, pulses,

machines, oil, railway,

coaches, ship building

Agro based Mineral based




B ETRT SR Fod AT & BY H TN R Sig MR IUTRT BT STANT HA 8 | i
3MTRT IERT WS oI % e &1 ST &_d & | <119 B BN g @iel erRd el & 4
f1 81 % Bic &) 981 dfad ¥ foral—

Q13. Utility or usability is what makes an object or substance a resource, for example, making a pencil with wood.
Given below are some articles. How would you use them so that they become a resource? Write or draw a

picture. 3
Article Resource through usage
(i) Wood Pencil
(ii) Water
(iii) Iron
(iv) Sand
(v) Herbs
(vi) Old Newspaper
(vii) Leather

Pl a%] B IAD! IUAINAT/Hed & HAE 9AT 2 | o oidbs! A URTS F9HT1 | -1 BB 9
<Y 8, SIhT SUINT 3T fhd YR &R {6 7 S 99 oe | fiRau a7 o a9max fexarsy |

ax] /Article SUART gRI WY'FT/ Resource through usage
(i) AbS! IR
(ii) ST
(i) =T
v) faed
v)  E-ge
(vi) ORI 3TGER
(vii)  THST

Q14. Once made available, public facilities benefit a lot of people. For example when there is electricity in your colony
it becomes easier for you to study. How would people benefit from the following public facilities:- 3

SGfIT Ueh R U B M UR IHHT BRIGT 9gd AR AN Bl BIdl 8 | O fd 3uas! diati d
fISTell o1 ST WR AUd! ye- foas # M 81 Sl & | <ird & T8 Sgfaenali gRT ARl &I a1
hIIGT Bidl g’




(i) Aschoolis constructed in a village

Tfa § U Wt 941 o S |

(ii) A government hospital is opened in your area.

YD & H ARBRI IRUATA Gl S |

- P
I TGN B 99 & ot g1 FRarr &2

Q15. In India, we have been showcasing adivasis in particular ways. They are portrayed in colorful costumes and head
gears dancing all the way. People misunderstand them as backward. They face discrimination because of this
typical image. Losing their lands and access to forest, they lose their source of food, face unemployment and

their children are malnourished. On being displaced from their lands and forests they lose their customs and
traditions too. 3

TAR <9 F anfeaiRial &7 U W@ dRg | U fhar SIer W1 g1 9 WA dus Ugd, RR W)
ghe T ArEd A T9R 30 & | I T S8 fUssl ¥8sl ofd €1 9 Bfd & a8 9 d
qeqTd b7 A ReR BT &1 T IR STl 9 veT N I 9199 9 dfd 8 O 8, SRR &l
WA 8 3R S god HUIVT BT RIBR 8 S ¢ | U1 SHFT R STl ¥ 8¢ WR I U1 IRURTY
3R Qfo—Rarsr fr 7af a4 2|

1. Which community is shown in the picture ?
CERICIE I CIR I CACID R T

2. They are usually shown in particular ways. Write with the help of picture.

= Ud G dRE ¥ 59 yeR feamn o &, 3 @ 7eg ¥ ey |




3. On losing their lands and forests which kinds of difficulties do they face? Mention any two.

T ST IR STl 9 f9ved R I fbT RNl &1 Am=1 SRA1 sl 87 dls af foRau |

Q16. Do you know why Tipu Sultan’s sword was so special? The sword had such hard and sharp edge that it could rip
through the enemy’s armour. It was made of a special type of steel called wootz which was produced in
smelting furnaces of Mysore. The hard and sharp edge was owing to the high quality and amount of carbon. 3

T AT AT 2 b Y B TAdR 31 W R/ of? $9 IR @l R ga-l 941 off {6 go9 &
dle & Had P A I IR Ahal ol | I§ U @R I8 @ wId geol A a1 off Ry #-R a1
WTed wfcedl § 97 SIar of | U iR & 9R P @ 3ifdds A5 &I Iofg o o |

(i) What was so special about Tipu’s Sword?

Y & TAIR DI T WY ofi?

(ii) It was made out of which type of steel?
Ig PIF W G IBR P Il I g1 fY?

(iii) What was the reason for hard and sharp edge of the sword?

7 3R WRad g BH & RIT aoig ofi?

Q17. Observe picture 1 and 2 carefully. These show two different kinds of schools. Mention any two differences and
any one similarity between the two. 3

o (1) iR foa (2) & &= 9 <RIV | A QT STl fdenerdl @& o €1 379 ®IE & iR 9 Uah

Pic:cure 2/ fo= ¥)



(i) Differences (3(dY)

(i) Similarity (FHTAT)

Q18. In the diagram given below identify and write the names of the factors affecting the location of industries 5

J BRE Sl ISR T aRART BT yA1fad wxd & 9, ST, Fean A1, 5™, fIega, goll, uRaed 3R
IR 2| T &1 BId & ofel 99 HRE A A e S 2|

o o SN @) aRefd BT guifdd &R alel dRe QT T €| g8 Uge= &) g A9 oIy |

Factors affecting location of industries

TN Y IRAfT B gaTfdd BT Tl HRD —

fﬁ Factors Affecting Location of Industries

T P Ry B ywila o 99 oRo

Q19. Observe picture (1) and (2) and answer the given questions. 5

e = (1) 9 =3 (2)

Picture (1)/fm (1) Picture (2)/= (2)



(i) Which of the given means of transportation is provided by the Government ?

T H A PH—IT AR gRT SUE] HRaIT A7 URdags 9= 8° 98l fddey w e
SIRTISN?

(()A  (i)B (i) Both
()3 (i)F (i) T

(ii) Which of the two according to you is more convenient and why?

MY JTAR QT § I B AT SATET Faurse 2 3R 2 a1 HRT fordl |

(iii) If, on any working day, these facilities are stopped what will happen?

MR U & I gfaurd 9 81 MY ol a1 sHIe

OR

Tagore hated going to school. He found it suffocating. The school appeared like a prison, for, he could
never do what he felt like doing. So while other children listened to the teachers, Tagore’s mind would
wander away. He felt that childhood time ought to be a time of self learning outside the rigid and
disciplined school system. Tagore was of the view that creative learning could be encouraged only within
the natural environment. So he chose to set up his school 100 kilometers away from Calcutta, in rural

setting.

SR O9 Fed o d Whe! O W 984 fI8d | 98l S9dT &F gedl oT| S© VAl ordl o S hd
DIg Sicl B il god A8l B T8l BR UK o | g gax ded el bl g1 %@ 8l A Al SR Bl
fEANT ®El 3R 9cdh BT BIAT AT| S© oIl o b 99U &1 F9Y 30U 3MY HIE BT FHI BT
RN | ST A1 o 6 Riem &7 ugfa & oM U & 8F1 =@ty | Sy S WER ¥ 100
fhaRier X U 7Iid ¥ 37T Wl @ietd BT hAe (6T |

{2 T srfeeE @l ufey @ Hafed ywl & SR AR |

(i) Tagore felt that school was like a prison. Do you also feel the same? Why/Why not?

SR DI VAT SFTaT o7 AT W6t DIs old 8l | 9T AT |l VAT oiTal 22 & /&1 J81? 2




(ii) According to Tagore childhood time ought to be a time for self learning. Write any two acts which
you learned to do on your own in your childhood.

SR & SIJAR §9U 1 FHY 3TU MY ARG BT FHIA BT <112¢ | fbgl &1 Sl & IR H
foRd ST MU 9999 H Y T HRAT AT |

1

(iii) Why did Tagore choose to set up his school away from the city in a rural setting?
SR < T8} ¥ ga+il 1 R 37T Thel Al WiedT? 2
Q20. (A) On the given outline map of India- 6

IR & I U gHE «w® —

(i) ldentify and put a circle around any three centers of the Revolt of 1857.
(ii) What is indicated at point Number in the map?

(i) 1857 @1 wifd & fgl T Bl TR et B M ST |
(ii) fovg 7R WWWW%?

(B)Mark a square around two major centers of weaving of 16™ century.

164 TrATed] & &1 gTg dal R DR IEIERCRI
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Question given below is only for blind candidates in lieu of Q. No. 20.
A 3T T v dad giteantad faganieil & oy uee a1 20 @& UM W T
(i) Name any three centres of the Revolt of 1857.
1857 1 whifd & el 9 Bl & 4 oIy |
(i) Name any one place of cotton textile industry.
fhel Teb Gell I8 T s &1 A oy |
(iii) Name any two major centres of weaving of 16™ Century.

Aletedl eare! & fdb-gl & 18 Bl & =4 foRay |




